MA1971 Name:  Solution s

D..Term, 2013

Quiz 2
H { J At A q
" Show all work needed to reach your answers. Median : 13
Low: 1

1. (4 points) Suppose S = (1,3) U [4,7]. What is S§?

sg= = uDBA)U(F %)

2. (4 points) If X and Y are disjoint sets, what is X N¥7?

xny - %

3. (6 points) Please prove the following: If A and B are sets, then A C B iff P(A4) C P(B)

- (Z?) SHPFOSB Ac B. lLetXePA)y (ie,letX be a subset
of A). Then XSASB = XeB = X EMB), Theefore FR)(B) 4

5 (&) Now suppese P(A)S (P(B) Let xeA . Then Ixfc PA)c PB)
T whicdimplies that {x3< P@B) = XeB, Trefore A<B. g

4. (6 points) Please prove the following: If A and B are sets contained in some universe U, then

AUBCE [ASn BF
() Sugprse xe AUBS, Thon xeh or xeB. So xeA°
o XEB . Ther X§ @‘n E»)_ F.‘naU7 X€ (A‘nB)CJ whicd
. ¢ ¢ ¢
m—.y/ies sl AUB°E (AN B) QED



